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ective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use markeror pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

* question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed
(D) (C) (B) (A) QUESTIONS Q-1
7!&5“()«»’(5’ ) L/('f‘fuj_‘/’l/’ cz’l/%:ml -‘aw{‘}f‘!&/’v%‘iﬁc’u‘:d‘ib» .1
el B Jeigend £ B Which of the following is not characteristics of
E mail Actual link to Using of Similar Phishing website.
account . forms to domain of
update website | oollect visitors | actual website |
s ek eiLgE | 2
® s ® © y g
Symbol of copy right is
&tk .
S Ko b9 (g HTMLL | 3
@ S
html ppt XLS doc
To Savethe\HPML page you can use
a@(&%@e ion.
S e Nd P S UL LB T ertos {f e | 4
%> hich Symbol in the flowchart is used to either
Decision Process Connector Ter@}g start or end the flow chart?
N ) V . .3 - % g .
ki ors Ciadlis | tladent | & AaR - ‘f—t'?.l.’rh"’:..iéf‘*""&wfd’___ 5
basiitd Boundary test | Invalid t B Q’a id test __Solution is tested on extreme values
Absent data data dat data
N .
~ebrgs L "17”/&#6/; 6
10100 10001 0110 10000 Number “17” is equal to in binary
system.
A BN URTTY o1 2 ’ J
<html > <title > <head > <body > ‘Lw’l"k“ T
The element is a container for metadata
et fafdl S usS| s
~enens
1 2 3 4 s .
- At least byte is required to store any
piece of information in computer memory
Dynamic Host | Dynamic Host Data Host Data Hosting _‘gbﬁ? ¥ DHCP | 9
i 5 e
Configuration Computer Configuration | Computer DHCP stands for
Protocol Protocol Protocol Protocol R
r.'/_/‘}::,{ (“/J!/ (‘/A/‘b'flb/ ("/&L( w;)g}.‘.@'(‘i’/ . fJﬁu’/é«;uﬂ)zJﬂ/_w .10
Computer Server Client Server Client Web browsers-and Web servers function
System System System System together as a system.
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Answer briefly any Four parts from the followings. 4x2=08 .‘,{f 4j e /‘.; Lz l/kcé.f e At 2 / Jir
Explain Problem solving. ) Sl LSS @D
Write two names of symbols of Flow chart. .gj-‘-’J (C:f.atwud/.wlgﬁ G
Define the Actitout. -/ S /7 d/ .:«57&16/.0 Gv) Describe the Candid solution.-] A ug.f Lf # 5}::( iid)
What is meant by HTML? e e HTML (V)
Write the output of the following code in HTML. -u-‘-J .‘«;..:«57(,( 31 HTMLZZ,J (vi)
<html > < html >
<body > <body >

<h,> My First Heading < /h, > <h,>, My First Heading < /h, >
</ body> </ body>
</ html > </ html>

.Answer briefly any Four parts from the followings.

Convert (59); to Hexa decimal.

What is meant by Temporary Storage?
Define “AND” operator.

What is meant by Boolean proposition
Define Software Piracy?

Explain Softlifting?

Answer briefly any Four parts fro
Describe the Hardware sharing with
Differentiate between static an ic IP address.

Do you know the use of HTTP?

Write comparison between Point to Point connection and multipoint connection.

Explain the order list.

Write the oﬁtput of the following HTML code.

< htm!> <body >
< t}'tle ~ BISE RAWALPINDI </ title >
< /body> </html>
Partce—e——————————— 11

Note: Attempt any Two Questions.

5. Define an algorithm and argue on its role and
" importance in problem solving.
6. Describe the understanding of IP Addressing.
7. erte down the characteristics of a good password.
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<html> <body >
< t)'tle - BISE RAWALPINDI < /title>
< /body > < /html >
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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

]

(D) (©) (B) (A) QUESTIONS Q-1
il Lo S5 e _‘43/ btk ()u:_wlgﬁ 1
Output Decision Terminal Input In flowchart, <> symbol represents
s r T oy et LE S FHL Foli| 2
Goto Set If-else Start In algorithm, that is usec})\o check the condition
@@-ﬂchdrlﬁdJWl 3
1-9 0-9 1-10 0-10
Digits in deci stem are
N
(i O@&% -4-b5/14A OR False J;!/éﬂd}! 4
A 1 0
All of these @ooleaﬂ algebra, A OR False =
Ve 6 g | e J@é\ P s DL AR
O )
All of these Correction | Error detection égg“c"““’“ Protocol covers
A A JH (e g bbnezie S U o Urs | 6
Information Address otocol Message Receiver must be capable of accepting the
NS R \ :
-wlggﬂd,/(cfu:u)’k 7
12 10 08 06 ’
Password must be character long.
JJL‘I%—VQ&)?J}{()'JUJJIJJY%’;Z.-—JIE; 8
S - Jad u/’u/}“'f/ e et e idy
CAPTCHA | Verification | Signatureline | Password | Collection of irregular text that make sure that
o the consumer is human, is called
¢ _wL@JU_VJ)LJ()?HTML 9
() <> e O .
HTML tags are enclosed in
-§.t'ndb7f‘lb§é LL/J;W.,»‘."/,, g | 10
<pic> <i-m> <scr> <img> )
To insert image in the web page, the tag used is

-

w )
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Answer briefly any Four parts from the followings. 4x2=08 -/ 7=z Lizige e tditn 240y

Describe valid test data? (/B3 = (i) Explain verification? s/ =olosd uﬁ-'-g IPZIN )]
What is efficiency of Algorithm? o G ST KPP M Gid)
Explain the decision making? U/ ol dd G
What are types of HTML tags? : fuLd FSESHTML )
What is output of follows code? (¥ "y 7 .:4,.:«570/ Wi (i)
<html > ' <html>

. <body> <body > ,

<hl> My heading </h] > <hl> Myheading </h} >
<13> My heading 1 < h2> <h2 > Myheading 1 </b2>

</body > </body >

< /ntmi > < /html > @

- Auswer briefly any Four parts from the followings.  4x2=08  -//27 Fdee b et stn 370

Define Hexadecimal number system. %O sy Ji (WGU‘J‘:)" W ®
Convert (1000001), to decimal number. O%{%p S AR (1000001), G

What do you know about Bit? @b@ el T Jerle  Gid

Give an example of Boolean Proposition. - V - )J("}"v_ﬁd/ ﬁ;g 64/ '/_,;'tfﬁ!. Gv)
Write down definition of Piracy. - _u:‘,"ﬁ i /s'"uf TG

What do you know about Hard-disk Loadi ?wz‘.lggg,hﬁz_/géjﬂém i)

the followings. 4x2=08 ..u_'f P j’ SN 4 /:? iz ‘J(:LJ[ LS its .4/. Jir
eSS ®

Answer briefly any Four

Explain the communication channet.

Describe File sharing in short. ISR S G
Write the name of components of Communication System. ’ -u.‘.‘ﬂ (oLl 2t Z,("/ g}g A Gid
Describe Nested List. -/ wld s .(v) Define the Message. U/ <¥ YA (e Gv)
What is the purpose of Hyper link. ‘ ?§_M;‘ gfb’.ﬂ £y Gi)
Parte—eeeeeeeee———e II (B mmmmm e -~
Note: Attempt any Two Questions. 8x2=16 - S ; A2 Lty c_éf:da]
5. Suppose a problem has multiple Algorithm, How would you f& 7T;u:f(;' inie ki LE .{!)1 Lfg/ ;s
choose the most efficient Algorithm to solve a problem? V('? J)mu:/“/ wlicere iy LLLSS
sy S
6. Describe Star and Mesh topology. ~ZES L;,Jyj.‘:‘ #s 6
7. Whatis Cybercrime? Explain its any three types. st 5 Fretnffiliv 1

/7, 944 - 0924 - 32000
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sh

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

eet and fill bubbles accordingly,

D) © (B) (A) QUESTIONS Q-1
Ju_'ﬂ'{ qu'f/’J Jj,:af J’}/.l? ?b'.bb[ug;bgl&(;/)mv‘(?’{d’w( .1
Which solution are not reached through proper
Best solution Strategied Candid Prepared , ) e £ pIoP
algorithms or work planning?
solation solution solution
IS | Figsdr | Foggadhes | Fags et @ A 2
None of Moral . Categorical Boolean “Is it sum@gu e isa__ .
Above Proposition Proposition Proposition A
S L s oS 6 Oé&% TS I
) @P is a graphical representation of an
Solution Flow chart Graph Ma —
algorithm.
o /D\%P
FEY | Wa@udn | i Dby <t ML | 4
None of Above | both (a) and (b) Mark Programming .
\ HTML code isa language.
@ -‘L‘JM‘LG.CA/J&J/J‘.{U}”%JIJ?&JVQ 5
Definition List Nested List rdered List | Ordered List An individual List item can contain another
entire list called .
15 18 16 17 A aASEHL | 6
Hexa decimal system has total numbers.
Found Transfer File Total Fix Transfer | File Transfer P 4 (‘I‘( FTP 7
Protocol Protocol Protocol Protocol FTP stds for ‘
56 - 19 - S A’ VRAIIPv4 | 8
The IPv4 address is made up of binary bits.
Disk on Dedial of Disk off Disk object e i Dos | .9
Service Service System System DOS stands for )
uf/’guuu'f Iy A 4 Slsans L -§,J$¢(U:Jui;g¢5vg edisn | .10
Online Piracy | Client Server Liability Softlifting | Which of the following does not include the
Overuse types of Software Piracy?

921-0923-35000 (3)
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Part

1

Answer briefly any Four parts from the followings.
What is meant by trace table? et A= J 2 (i)

Write the name of any two symbols of flowchart.

What are the strategies of defining a problem?

Write the name of HTML elements.

Differentiate between paired tags and singular tags?
Answer briefly any Four parts from the followings.

How can we convert Hexadecimal to Binary?
Convert (1000001), to decimal.

Write four examples of storage devices.
Prove A+B=B+A with truth table.

Describe sabotage. - 2% /6 7 (vi)

S

twork?

Answer briefly any Four parts from

How computers are connected in co
Write one example of IPv6 addre
What is the use of switch/ hub?
Where we use Multi Point connection?
Write HTML code/ tag to make the word “PAKISTAN" bold?
Which tag attribute is Text?
Part

Note: Attempt any Two Questions.
What is meant by algorithm? State three advantages

I

and disadvantages of algorithms.
6. Differentiate between Star Topology and Ring
Topology. Also give two advantages of each topology.
7.  Write the names of Ethical Issues related to data

security and explain any three Ethical Issues in detail.

922 - 0923

£1;45 HO )

SGD 423U

@
&

b (28 S Sl
o
4x2=08 -qu@yz,-‘?azug.—_Jf;u:‘pe» 24Uy
What is meant by Algorithm? st A/ # 01 (3)

VL s Sk Gid

KNI SO G
-u.‘.‘drl:é:/b“HTML W)
-QIUQJ)U:J/;AIJD% (vi)

w2208 S e Lt St Litn 3,40

pESLbpalta b @
“Edw e Gooooon), G

LA e G

&@O

A+B=B+ASZE 2 3E K2 Gy
Define Encryption.-25.y PIskS () -

4%2=08 s /:?:-,yg Vod L:zug;df Lt ALy
sl L lind pSneitd D
Ao LS Asmve (D)
¢ Jibally G
St UL ‘f“ﬁ _uifw"‘ Gv)
225 4 34 BHTMLEL L2 /Bolds PAKISTANE )
et b Texe (W)
2

(»
SF clzletirnediied

8x2=16
J)U"’;c)féf?umqg.)lfgc{’;um 5
-u:/u,lg.:atlﬁ;
UdnE - S LG 6
Skl 25
7
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Note:- You have four choices for cach objective type question as A, B,C an.d'Dﬁ ‘The choic

¢, which you think, is correct; fill that circle in

ker or pen to fill the circles. Cutting or ﬁ.ili_ng two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and f£il] bubbles ac

ble for the situation. Use of ink remover or white correcting fluid is not allowed

| (D) (C) (B) (A) QUESTIONS | Q1]
" > B / _ *?—”UC—-/(’:/"J/‘:/,,T&UI N
Which operator has the highest precedence
print wdineS o~ s %dkd‘fﬂinclude 2
print Comments main Header Includc"statemel%izfgg@;gritten in section.
O Lo A P (b R e e VN I W
. . Message © o L"/Jbvfl/l/’,/yéégf
Explanations | Comments _Hints the source code to further explain the
_ . q 1ligues and algorithms used by the programmer
SIS | Line = this l grade = ‘A’; } int = 20; = SIS S S et 5 4
None of them is a line @ Which of the following is a valid line of code J
N L
- T R0 [
¥ - 77 _ﬂv_ ‘—_u:uuunuf/c{/‘m/; U“"‘{'G; .5
174 T"‘L}:{' o 2 - If the;e are three return statements in the function
d Last Three e body of them will be executed
First and Las . - R4 A
: N U U] ’
- P Which of the "."/‘g ke, I‘L—db £ ::or oi c
== Za== are== following is the condition to check 8 isafa
at+c==0 a*c== ¢ ‘° owing & 5, A 7
e £ S A -C‘-Gcnuﬁﬁg'_____&‘j’(‘/“’("g '
"‘..-,. g . £ 2 ol | 1 o | .
K | lational Arithmetic x;&éffr‘ldition can be any ....... €Xpression.
. : Logica Relationa L
Arithmetic,
relational and _ . ; :
Logical e o v ‘I_._\;.;;_;Q)J,,;ijlﬁgoil/‘g//u{l_____ .8
DT o { Lbe—s e vl . ; array.
S S o ‘/"-.J A:ray name Data type is the“tinigue identifier, used (o R:Lf"t:}t;j;)}” )” 5
ne Array size - T e | A il
,Y:Ob I é,'-l-é—kf' L = g bg} d“ declaration
Linibard b i f | Array can be initialized ....... ec : 3
After At the time o 4 T = - )(u.gﬁ 10
&b Before 9L S e '
Bo{h; Tt JE-TA el y : i tion are
] | debugging | Reusability | Readiability | The advantages ofusing a func
All Easy debugging

1011 - 1023 - 20000(2)
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Answer briefly any Four parts from the followmgs 4x2=08 .uL/....uy/L:ng;J/;_w.,mw 24U

How can we solve a problem?
State the importanee of flowcharts in problem solving.

Compare advantages and disadvantages of an Algorithm.
Define Anchor. .2y 7§ &1 (v)

Write tag to add image in HTML.

Answer briefly any Four parts from the followings,

Write the use of truth table. &0 U6 7, Gip)
Convert (156),, into Binary number System,
Define compound proposition.

What do you know about advance fee fraud?
Define copyright law.

MES S egin @
-a_{uy..-,:m!@g,ﬁu:d’é,b (i)

<=yl iy L (? uﬁl Gii)
Describe valid test data.-’.éuy.f blosd ey Giv)
_2-:4/’ug¢£i.lﬂ/,ﬁgﬂHTML (vi)

4x2=08 S F ez A Litlpe e Bhstn 3,21
Differentiate betweer@ yte 2'1: Ukl s basls, 6]
O “EUe LeBdeS 1s6),, Giii)

%{&% -2{ - /7 d/ c/?‘);'!/ f&‘fbf Giv)

@ ?wgbg...fu‘g.ztéﬁl/‘/‘gf’ml )
% B ol

@ - s b

Answer briefly any Four parts from the f gs.

Define the internet.
What is meant by Receiver?
What is the use of Transmission Medium.
Explain Routing on Internet.
What is meant by make a table in HTML.
What is web page?
Part II
Note: Attempt any Two Questions.

5. Explain determining requirements for a flowchart.

‘6. Write a'note on star Topoloéy and Mesh Topology.

7. Define cybercrime and explain three types of cybercrime.

4x2=08 /S /’..,w/" Lzl §S e Bt a2 Uir
Il W
Sesl ey (i)
~4.Ju=~:wff,yuﬁ-“) 12 Gid)
e Bzt (Giv)
‘e Ve d LEUEHTML ()
fetnlfCcs (i)
[ P
8x2=16 L2z Lty (in s

-q/ug;.:»bwﬂ’()b‘&.wkﬁ 5
-d.fi_‘a)/"&ﬂy‘/‘ruld}’yﬂ‘/ 6
-é:—?&:gfrw‘f&luu/b@j’lﬁl/ﬁI/ ;]
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Wote:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circies. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and 1ill bubbles accordingly,

ntherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

o | (€ (B) (A) QUESTIONS Q-1
_.:‘;.l?;f(_,J'v:”i Vg u/z{.:’l../l)’u/_/’ui@%) 1
G SR W il Which tag is used to insert irnage into the
webpage.
<y> <o <1> <b> _alon)e i 8y BUS A HTML | 2
Which tag(igue to beld in HTML
; <& S i 2 B
S g S W N @ e AP
> is a graphical representation of an
Solution Flowchart Graph Matrjx C% T sHEp o
m algorithm.
- ] N\ i P . e
S dS | S g WA LS g LIS e )4
) ) is a set of steps to solve a prublem.
Planning a Defining a Flowchagt{ g
solution probiem
R
it x| <y = . gt e o |5
) . The smallest unit of memory 1s
Megabyte Kilobyte Byte Bit B
s 3 e » Vo {5 3 5 T - “ 1
(2 E,"eru;? ,J‘ Cussl $a55 SEYss Ui fol...f'-..'a—?c.:,w(JJ:':’flr_)uG&’)(ﬂZJl Lf,'f»{! .6
ROM Secondary ol Volatile -‘{—VM____G-/'J-"?&'/
storage Non-Volatile memory A device which holds data as long as it has
memory power supply connected to it is called
G| Pl | Fagdgets | paeuis st A | P
' “Itis cold outside” is
Distributive Moral Boolean Associative
law proposition Proposition law
16 32 64 128 AR IPV6 | .8
IPV6 has bits address.
! 5 8 12 A b7 dsut | s
‘ Password should contain characters
[0 S Iy b -2 €25-7 | .10
Dependent Commute Student Teacher Experience is the of everything.

933-0922-40000 (2)
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Aunswer briefly any Four parts fom the followings.  4x2=08  ././ LF M LT e 3 e (Lo L 3Ty 2 24 ivr
5 s ; : I - '
Write any two disadvaniages of flowchart. 540r "[.. ’ a S L ud) L. .-,/w" £);
Define problem. s e G
o ol /
Which type of values to be given in boundry test data? L0 ‘f‘ﬁfu'J-u [ el (jj P Gz
Convert (1001 1), into Decimal SYStenm. .-;‘,i'/rg_):,.g:‘ %ﬁf(,"LL"\_,t‘,‘..“)(( 190115, (iv)
S 1 o
. N i . b K3

Write ASCI codes of any two numbers, S // BIASCHL s7sren L s

Define Binary system.,
Auvswer briefly any Four paris from the followings.

Draw tiuth table of “AND” operator.

Write identity law.

Write the usc of truth table,

What is meant by Sender.

TP).

How many IP addressing standards are there? Write the

Write the use of File Transfer Protocol (F

Answer briefly any Four parts from the 8.

Encrypt the word “HTML” with the metl eascr cipher.
HTML is not case sencitive define iif
What is counterteiting.
Which name of tag used in HTML for adding an fmage.
Define head section,
12t is hyperlink.
1 o -SNORPSNE. \Y | |
Note: Attempt any Two Questions.

Draw four different symbols of flow chart and write
description.

Define Computér network. Also-discuss types of
conaection in network.

Define Encryption, Also describe the importance of

encryption for everyday life on the internet?
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Note:- You have four chonces for each otfective type question as A, B, C and D. The choice, which you think, is correct: fill that circle in
front of that question number. Use marker or pen to fill the circles, Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the situation, Use of ink remover or white correcting fluid is not allowed

(D) (€) (B) (A) QUESTIONS Q-1
24 25 26 36 SRS b Fperl
Vigenere Cipher table consist of TOWS. N
HIE i e EA el I SRt | 2
Phishing Hacking Soft lifting Piracy Making illegal copies of software is called B
Crime e
Liadis | Podis | LLs | Lo @@@ -Febbutendian £ 3
3 v in the document.
&LLS e Ll Insertspace | To heading §< E cumen
To begin To end
paragraph paragraph /] ((
. \J s Rt > A
s s crs W e bndirid L0 Sgrfo €5 4
@ tag is used to Italic the text.
o Oy i) $O = -‘L/‘“‘J"’LS/-"?"QKV“{”F' S
. is a graphical tati
Sulntion Flow chart g i . \s a graphical representation of an
algorithm.
~
o e Pesg S Qo SU1 L L B 6T o5 01 Sk | 6
- o
Decision Process Connector Terminal _ , ‘ ‘
Which symbol in the flow chart is used to either
start or end the flow chart?
At(B+C) | AB.C) | AB+AC | A+ | AL (A+B).(A+ODEh | g
Expression (A+B) ,(A+C) is equal to
e bnarL ARTEFL] 8
10100 " 10001 10110 10000 Number “17” is equal to _ in binary
system.
(u'jL)f” rwj‘}“ "j[ f rwél,: ("\Q@'W' "LJ;YZ._/JLJ’U (Lb‘) d}ﬁg,/(_}:d;l)ofjud,’(: .9
. What Number system do we use in our daily
Octal system | Hexadecimal Binary Decimal life?
System system system
e la Ut FUAIPVA |10
16 29 B2 31 The IPV4 address is made up of binary
| bits. |

935-0922-35000 (2)



i ~ z
‘sz ,..'.B?,._/}‘!p’d_/."d;/é_"/_.3,_’..7_-“)’\,”h_).?/b

2020-22 & 2021-23 ¢ 4 L ASLE(F =r12) 0922

.
-

40: A B as B peend () LS
PUE oot f -J;l __________________ -2
Answer briefly any Four parts from the followings.  4%2=08 ./ i 4 /-? wlil? /‘W iz l;lgc:.a,gfc.;ufi Lilss 2 /’ Jis
Why we need the strategy “Divide and Conguer™? S c"o“qzo it—_ SZU—’:,!/-,;:‘/;/:’L(LVJJ)/@J}!:/‘K:}? {
Define flow chart. ‘L[/:.,&J /J(_'J/_:,ulg:":’ (i)
Define trace table. - /‘/....é!_/‘." L/( jfgﬁf s Gi
Define the memory. , ' Ye i e Gt Gv)
Why we use “ASCII” codes? Ce b Uud B Asc” ()
Convert (1101101); into decimal number system. - :/:_Z,e’ g/frlk')d/(i’!:(( 1101101), (i)
Answer briefly any Four parts from the followings. 4x2=08 ~r_{f £ f -::«U.ﬁ'/‘? &l’zulgc.éf Py = Lt;’(;u: <3 / Jiy
Draw a truth table of NOT operator. WOVF KrNOT (D)
Write down the negative preposition “Today is holiday”. ©@ Pl Ty FJ ";‘-__ S ¢

Define truth table. %O _g'.‘:‘_?/:’b(tj,"-'ﬁ‘f’,) (i)

Define communization channel. ' @O& -Efu'/;’.JJif u-”:(:»:/ Gv)

What is header in message. . %5 ~elbnlli b, (V)

Define packet. @@ -‘3{ P?/'JU( ~"£ (vid
%

Answer briefly any Four parts from the fo 5.7 4x2=08 _qj/r ,{f @LU’.’/‘? J_/J.'Z!J!gc.,éf ek J_ ilysr A / Jlr

What is meant by data privacy. et P e Sanidis (i)
What is meant by trade sccret. _c‘_;e/y’a,ﬂ,-&g? (i1
Write HTML code to insert picture into web page. ,wé’_@(___r/_,r’j/?g’__,;: (iii)
Detine web server. - J:._él/"'j d -/9,,/».../,1 (iv)
Why “UL” tag is uscd. e telUeiud BUL )
What is difference between background color and foreground color. ‘-b‘—J/.L{(J A L S i',u”_,g (vi)
¢ iI S >
Note: Attempt any Two Questions. 8x2=16 kil //_ /’ @Llﬁﬁaﬂ!:’;}&é:fia:’
5. Define an algorithm. Also write three advantages and 24343=28 BV 04 .f:f/; PRy b2 S /‘7 J (Z ol 5
three disadvantages of an algorithm. - £y /_,/; = bled
6. Define Bus and Mesh Topology and also draw 4+4=8 ‘v( A Ul _q,/'/...,éf/‘? J.',?.:"y J;rx:lui' 6
diagram of both topologies. - :/t;rl/?i;‘
7. Write anote on cyber crime (any Four) also Give an~ 4+4 u”‘"dc‘»J..{’!/;;éu."g;]/_'_,r;ff,éb/tgc.df 7
example for each crime? S
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Natei- You have four choices for cach objective type questionas A, B,C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker orpen to fi
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QUESTiONS

Q@Jleg,zﬁ‘ru&wuwyﬂ:duﬂﬁwg}’ 1

~&
3

Diamond Process Connector Terminal W g
Which symbol 1 used to indicate start and end
L | ofa flowchirt. 'yv'-\»-us -
2 A et 41 ST/ V’yvﬁsu’{*——f-—//t’v’/tfw’{f'”
<
Prototype ActitOut Guess Divide and , , o
In which strategy, the-designer defines the list of
| Conquer | “to-do” tasks. ©
2 ] o 10 PV NN
('gk{‘@aé\)?b inary number sysiem is
S04 | UF1024)° S102a)® | UFu(1024)] N e trsl Akl | 4
(1024)" bytes | (1024)" bytes (1024)° bytes (1024}“% 1 Petabyte is cqual to
v (9 i };'r"j A .
10 52 8 The —e- b (U U7t SsiI 1PV | S
O IPV4 address is made up of binary bits.
-7 l% d,__r'_L'/JJ’/? Ry _ﬁ‘,blk{_ﬁ:.‘.:fgg/»&j 6
Extranet Sis et Internet Network of networks is called

Network

Personal Arca

o s

EASIST | B U2
Online piracy Hard disk Counterfeiting Softlifting
loading - |
oL S 2ok EASIT
Cipher text Encryption Patent Online Piracy
6
<hl>

L/:,Ju;bf/;...dvd:’b/u’"("(/u(u"/./su.)l/ 7

Which type of software piracy °4_J£/

involves downloading illegal software.
/3 PR A

\rey is a way to protect an idea _
,JJZ._)?JLJ’M:GL(D&(J&[IS HTML | .9

How many types of tags are there in HTML

document?

Example of Singular tag is
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Answer briefly any Four parts from the followings. 4x2=08
Define Logical Eiror.

Definc trace table.

What is mean by strategy “Use Guess in defining problem?
Define the technique prototype (Draw) in Planning a solution.
Write down the types of HTML Tags.

What is head section in HTML document.

Answer briefly any Four parts from the followings. 4x2=08
Convert (A23)16 Hexadecimal into binary number system.
Write the name of Logical operators.

Define Decimal number system.

What is meant by Boolean Proposition?

What is meant by Data Privacy and Data Confidentionality?
What is meant by Hacking?

Answer briefly any Four parts from the followings. 4x2=08
What is meant by routing process?

What is the use of File Transfer Protocol?

Define the Intemnet?

Define the IPV6 address?

)

Wiite down the names of two types of HTM

What is meant by writing paragraph i

Note: Attempt any Two Questions.
Write a briefnote on defining a problem.
Usually which protocols are use in application layer in
TCp/ 1P model? Explain briefly.

Write down any four Ethical issues related to security in detail.

LY I

o£8Y°
@%
A

8x2=16

(1) u‘*/L«/";;;‘/

L’J:' ~~~~~~~~~~~~~~~ -~

S fekn P Z,:zuga,éf e Lt 2 Ay
NS NIV T

NSV ANV
o.q,,,,g;.wg“m,,-.,;wméz;/ (i)
a8 =k Sl S L W)
N (térwd)?zi HTML (V)

Sl P date S HTML (V)

-u’_//j.:«giz/""&zugcréfc_gﬁdizw ..3/:2Jlr
JlUx idES J""s% (Aa23) @

SpLlippdy @
e i)

f et 2V Pl GV
s-.?,u/gc,fg;”wm)u&s )
W

Tc"_.Jl/gc.—JfLﬁu €

vc‘,dmgf Wi Pofe G

sy S e p Gid)

s S i PSRk IPVE Gv)
AL pmff ML ()
s.?,):,-gaz“.,s;ﬁm; ML (vi)

el S

Jead i S ‘o Jagritce/ et 6
Eeolne 8

«J«//J;G—MJVJM/%:«S!’UWC—G/&C 7

936 - 0921ALP ~ 40000

b

I‘.




_____________ Z/Ju -/C.{J?%./J/K‘g/d’/t{.‘/r,vjcﬁLj:.-.:".(:a-‘{“y‘url:hféji, ((&’L?) 0921

............ a5 s 2020-22 % [ AL
— - SaD-G 22 -
PAPER CODE 5838 104 21500 O w",;{
c,b{l-’z,:;/.‘a,‘j;g/ﬂﬁ}ujw gk /_(_._JJ.."//)C,LJ: u:;bE_CZ_',)Z_\/.:CJl,’/:/_._L},(@:’._wiz'_..)[)/lechA:/UK;G/gLdlyg'-&]
Ll L& S PAPER CODEs 247 U1 )iuJ;)LL}TKle_(n/rJ Ty s e LSS S usrml
_:‘,__L/JWIK}XP,‘:i/(://yfjvfl_Jﬁ/w_ry,_.)Mj/b,j}(Gu.‘f\:,//&fﬁrqf

hink, is correct; fill that circle in

Note:= You have four choices for each objective type question as A, B,Cand D. The choice, which you t
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e Answer Sheet and fill bubbles accordingly,
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Decryption Identity theft Phishing Hacking Which of the following is nota cyber crime?

Crime

e preodi5 L]
links allow you to go -c‘,\,“b_rL

£ 4\

Hypertext

LY

Linebreak

—_

from one part of same page (o another part.

o Fntiad, - Jreisds HTML »

@eadings in HTML

<

Tl i f pemd e Foof

There are

:,;Tua.(i

Act it out

5/6/:‘(-73/ Kr
Divide and
Conquie

g

Conncctor

Prototype

J

Proccssing

it is used to determine the flow of steps ina

flowchart.

- :,):Jljéj_ L(A)m

3

For(A), the binary value is .

(11110, 0011
: ujz_,uu’:dviﬂf(wj dwfufgfua/md,l ‘

(wE16U JA
Base 16 Decimal Hexadecimal Binary The number systom -g.r'UiJ Kol selos
system we use it daily lifeis number system.

i f ,

V& e e S0 A AIPV4

IPV,4Aaddres‘s is made up of binary bits.

_u Ad Snree/1p
'qu_ma:ﬁ layers TCP/lP model have.
a7y e H OISl

pies of software are called......

S/
Sabotage

Pimc.y Hacking Makmg illegal co
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Part

Answer briefly any Four parts from the followings. 4x2=08

Decfine a problem.
What is meant by divide and conquer rule.
What is the purpose of using flow line symbol in Flow chart.
Describe the use of “Set” notation in an algorithm.
Define HTML
What is mcant by paired tag?

Answer briefly any Four parts from the followings. ~ 4x2=08
What is meant by number system? .
Write truth tabie of AND operator.
Why RAM is called volatile memory?
Define the proposition.
Write two issues related to data sccurity.
What is meant by piracy?

Answer briefly any Four parts from the followings.
What is Application sharing.
What is Message in Communication system. @%S
L

What is the function of Network Layer.

Define HTTP.
Write the Attributes of HTML tags,

Write the function of < font> tag:

Note: Attempt any Two Questions.
What is meant by Planning a solution to a problem?
Write in details.
Definc the Computer network. Why Computer network needed?
Explain in detail.

Write the importance of Encryption for everyday life on internet.
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